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i (138)F0+1E

B®REIEH His=3 =X va NO. 1 NO. 2 NO. 3 NO. 4

R4.11.29 R4.11.29 R4.11.29 R4.11.29
NP FN Cd  |mg/kefz=1lB <0.5 <0.5 <0.5 <0.5
LTUEEY CN |mg/keiz=1E <1 <1 <1 <1
S Y O-P |mg/keBzE1E <1 A A A
i) Pb  |mg/kgBzEfE 18 18 18 16
AN (iiZA= PN Cr6+ |mg/kgBZ 2 1E <1 <1 <1 A
itk As mg/keglz E B 4.2 3.8 3.8 35
#KER T-Hg |mg/kefzE{B 0.03 0.06 0.03 0.03
FILEIILKERIEEY Al-Hg |mg/keFz = 1B <0.01 <0.01 <0.01 <0.01
RUEEEDTZ L PCB |mg/kefz2fE <0.01 <0.01 <0.01 <0.01
Kn H.0 [% 10.9 14.6 9.7 13.1
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BREIER 25 B4 NO. 2 NO. 3 No. 4 No. 5 NO. 1 NO. 2

R4.11.28 R4.11.28 R4.11.28 R4.11.28 R4.11.29 R4.11.29
HESHL Cd me/kekr = {E 0.3 0.2 0.3 0.3 0.4 0.3
STFUALEY CN |mg/kezElE <1 <1 <1 <1 - -
&GSy 0-P |mg/kefz=1E A A A <1 - -
£ Pb  [mg/keRrE1E 10 6 7 8 - -
iz d=FN Cré+ [mg/kelz=1E <1 <1 <1 <1 — -
it= As mg/kgiz = B 3.2 2.0 2.2 2.6 0.9 <0.5
#IKER T-Heg |mg/kefz=(E 0.09 0.05 0.02 0.03 - -
7ILEILKERILED Al-Hg [mg/ke#7 £ 1B <0.01 <0.01 <0.01 <0.01 - -
RUEEETIIZIL PCB |mg/kgsZE1E <0.01 <0.01 <0.01 <0.01 - =
mEHE % 1.7 1.2 1.9 3.0 - -
JILRIIATHUOHEYMESE=S me/kekr = {E <250 <250 <250 <250 - -
£ Cu |mg/kegfsE1E 36 12 22 24 11 5
K H.0 % 18.3 20.0 21.0 235 456 34.9




